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PP, Chp 6, problems:

4 (prog. to compare R1 and R2: GT, EQ, LT)

Reading:
PP, Chp. 5: The LC-3 ISA, datapath, and controller.
PP, Chp. 6.2: Using the LC-3 simulator

(NB--PP describe their Simulate.exe, which is very
close to what we are using, PennSim.jar. The major
difference is that PennSim will not execute an
instruction with all zeroes, which is a flaw because
such an instruction is a perfectly valid LC3 branch
instruction.)
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feeee R1>R2: RO <== 1
R1=R2: RO <==

R1<R2: RO <==-1

;---- R0 <== (R1 - R2)
;----  switch( RO )

case N: RO <== -1
case Z: RO <== 0
case P: RO <== 1

NOT R2, R2 ;---- 2's comp R2
ADD R2,R2,1 ;----2's comp R2
ADD RO, R1, R2 ;--- RO <==R1 - R2

BRn neg

BRp pos

AND RO, RO, 0
ADD RO, RO, '1 ;"‘ RO <== -1
BRnzp done

zero:
AND RO, R0O,0 ;---R0<==0
BRnzp done

pos:
AND RO, RO, 0
ADD RO, RO, 1 ;--- RO <==1
BRnzp done

done: :---- endSwitch
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